Let's explore Kasumiga
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http://drive.google.com/file/d/1mw-QOWFH6SCe9ArlTctamgxgt3XmsXb2/view
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(Ix]>1yl) && (0> X) (x| > 1yl ) && (0 <= x)
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F cos @ E): \/(COSBA 2+sinB"2)




if (abs(lx) >= 10 |1 abs(ly) >= 10) |

4 v A
Angle = AnalogHathAngle(lx, ly); arctan () ifz >0,
VecterPower = sqgro{ pow{abs(lx), 2) + pow(abs(ly), 2) -;-—atctan(-:-) ify >0, -
if (VecterPower > 255,0) VecterPower = 255.0; atan2(y, z) = { '1¥f

3 —arctan(%) ify <0, ~

) arctan(Z) £ = ifz <0,

else | 2
Angle = 0.0; [ undefined ifr=0andy=0.
VecterPower = 0.0;
Ml = 0.0;
M2 = 0.0;
B e T—4 oBBfR M
M4 = 0.0;
}
Ml = VecterPower * sin(Angle - (FI / 4)) - rx;
M2 = VecterPower * -sin(Angle - (PI / 4)) + rx: Eﬁ o)
M3 = VecterPower * cos{Angle - (FI / 4)) + rx:
M4 = VecterPower * -cos(Angle - (FI / 4)) - rx:
= E e 7 £ T
FRmotor (ML) :
Flmotor (M3);

BRmotor (M4) -
Simocor 02 gL

. M = Pow x sin(8 - /4) - Rx









http://drive.google.com/file/d/1mk_uE6gXPVDt5lvkkHPVO8PCKgEZwj1R/view
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